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I . W:ite your Roll No. on the top immediately on receipt of
this question paper.

? Attempt any five questions.

3. All questions carry equal marks.

4, Answers may be written either in English or in Hindi; but
thq same medium should be used throughout. the paper.
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Derive the aggregate demand culve using income-expenditure

approach ? What happens to aggregate demand curve in

response to a rise in the autonomous investment and government

spending ? (15)

fffu-qq gHor w vifuI 6i1 gq rJr[ qFr qF qi Ekq { ,

lanxnffirrqqtc+ltra-{+ gfr * qRftqr€ccqqqqrrr+ frq
ror< qftq-f{ *dr i ?

2. (a) Show in a diagram the following:

(i) Actual GDP is above potential GDP

(ii) Actual GDP is below potential GDP

(c') tu*qrrct<ntcs:
(i) qr<Ec, tqa *qw*n trrnBc vq-a *q3-fltE t

wralr (
(ii) sr<k*' ffi-€ Aqrere nrrnR-c w.-o-*qssr< t

q"q.* r

(b) How would we use fiscal policy to correct each of the

above situations ? (8,7) ''

(r<) reo, sq{ffi R{fd+ d $rnt n w <rq-dftq fifr a1 fr-(

v-on q+rr 6tt ?

Illustrate the circular flow of income in a four sector economy

with the help of diagram. ( 15)

Md{ fr rcrrrdr + qn *+c aptq{sr i s{rc * afa rom d
qrcqr *frq r

Derive IS - LM curves. Explain how shift in IS curve affects

rate of interest and GDP'! (8,7)

IS Rs LM q-d 61 E-fl-q dfrs r IS-{fi i Mq sq'a dq
Tflrd vs qrw fr qt al ft-s r*n yqrE-a q-car I ?

(a) Investment multiplier

(b) Automatic stabi lizers

(c) Fisher's quantity theory of money

(d) Determinants of MPC
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,,8, Write short notes on any two of the following :
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(b) Consumption and saving at equilibrium level of
tncome.

(c) Equilibrium level of national income when tax revenue
decreases by Rs. 60 crore. (15)

\1+. s+q{tvr + frs Fq qa-<r{ -& rr€ l:

sq*rr Ftr{. c : 100 q-+s + 0.6 Yd

I =Rs. 500 q'ts

{46'R q{T . G =Rs. 400 t6,fu

T :Rs. 200 q-ts

X =Rs. 300 q.ts

3lEITf, M =Rs. 100 qfu
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Explain how commercial banks create credit ? Are there

any limits to credit creation ? Explain. (15)

qrFrfu'+. *o trr< g';m ftr q-fin 6-d * ? er sr€ gwl m d{
ffi i ? qrcqr dftq r

What is money ? Discuss the functions and lmportance of
money. (15)

g-dr wr + ? Usr * qr{ ve qre qr sd{ 6t r

5. Giving following data for an economy:

Qonsumption function

Investment

C = 100 Crore + 0.6Ya

I = 500 Cr.

Taxes T = 200 Cr.

Export

Import M = 100 Cr.

Calculate the following from above,

(a) Equilibrium level of national income in the economy

P.T.O.
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Government expenditure G = 400 Cr.

X = 300 Cr.


